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5cm 50c¢m 100cm
Dt dilvER () — 0.07 — PA-1000
QA FHI — 0.08 — PA-1000
2/4(R)Bh QEERIZAT — 0.07 — PA-1000
@IF5>aTF — 0.07 — PA-1000
i 0.06 0.06 — PA-1000
Ot ER () — 0.08 — PA-1000
@A FHI — 0.10 — PA-1000
8/19(R)HEN QRIS — 0.07 — PA-1000
@IF5>aTF — 0.08 — PA-1000
g 0.05 0.07 — PA-1000
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5cm 50c¢m 100cm
Dt dilvER () — 0.08 — PA-1000
QA FHI — 0.07 — PA-1000
12/3(R)E£Y QEERIZAT — 0.08 — PA-1000
@IF5>aTF — 0.07 — PA-1000
i 0.06 0.07 — PA-1000
Ot ER () — 0.07 — PA-1000
@A FHI — 0.08 — PA-1000
6/5(&) BN BRI AT — 0.08 — PA-1000
@IF5>aTF — 0.08 — PA-1000
g 0.05 0.05 — PA-1000
TR
HER- KR A IS ek i s o
5cm 50c¢m 100cm
gt pilvER () — 0.08 — PA-1000
@A FHI — 0.08 — PA-1000
12/5(RK)EN QIEZISFR — 0.09 — PA-1000
@IF5>aTF — 0.08 — PA-1000
hi5 0.05 0.07 — PA-1000
Dt dilvER (G2) — 0.08 — PA-1000
QR FHI — 0.07 — PA-1000
6/5(K) &Y QB IHAT — 0.07 — PA-1000
@IZ>aF — 0.07 — PA-1000
i 0.06 0.06 — PA-1000
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5cm 50c¢m 100cm

Ot LER () — 0.09 — PA-1000

QR F Al — 0.09 — PA-1000

12/71(£)BENL BRI AT — 0.09 — PA-1000

@IF5>aTF — 0.08 — PA-1000

hi5 0.07 0.07 — PA-1000

Ot FILER () — 0.10 — PA-1000

QR FHI — 0.09 — PA-1000

6/4(R)BEN QEERIZAT — 0.08 — PA-1000

@IF5>aTF — 0.08 — PA-1000

i 0.06 0.07 — PA-1000
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5cm 50cm 100cm

Dt il ER () — 0.10 — PA-1000

QR F Al — 0.10 — PA-1000

12/5(X) BER OB EIH AT — 0.08 — PA-1000

@IS5>aF — 0.08 — PA-1000

5 0.07 0.07 — PA-1000

Ot FLER () — 0.09 — PA-1000

QR F Al — 0.11 — PA-1000

6/2(&)EN QI ERIZFT — 0.09 — PA-1000

@IF5>aTF — 0.09 — PA-1000

hi5 0.07 0.07 — PA-1000
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5cm 50c¢m 100cm

Ot LER () — 0.09 — PA-1000

QR F Al — 0.10 — PA-1000

12/2(&)BEN @RISR — 0.09 — PA-1000

@IF5>aTF — 0.10 — PA-1000

hi5 0.07 0.08 — PA-1000

Ot FILER () — 0.10 — PA-1000

QR FHI — 0.10 — PA-1000

6/3(&)EN QEERIZAT — 0.08 — PA-1000

@IF5>aTF — 0.09 — PA-1000

i 0.06 0.07 — PA-1000
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5cm 50cm 100¢m

Dt il ER () — 0.09 — PA-1000

QR F Al — 0.11 — PA-1000

12/4(&) BN OB EIH AT — 0.09 — PA-1000

@IZ>aF — 0.10 — PA-1000

ibi5 0.07 0.08 — PA-1000

Ot FLER () — 0.11 — PA-1000

QR F Al — 0.12 — PA-1000

6/4(K)BEN QI ERIZFT — 0.10 — PA-1000

@IF5>aTF — 0.10 — PA-1000

hi5 0.08 0.08 — PA-1000
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Dt dilvER () — 0.12 — PA-1000
QA FHI — 0.12 — PA-1000
3/4(K) BN QEERIZAT — 0.08 — PA-1000
@IZ2aF — 0.10 — PA-1000
bi5 0.07 0.09 — PA-1000
Ot ER () — 0.12 — PA-1000
@A FHI — 0.12 — PA-1000
12/4(K)BEL IR AT — 0.11 — PA-1000
@IF5>aTF — 0.10 — PA-1000
Bbig 0.07 0.09 — PA-1000
Ot FILER () — 0.12 — PA-1000
QR F Al — 0.12 — PA-1000
9/4(K)EN IR IH AT — 0.11 — PA-1000
@IF5>aTF — 0.11 — PA-1000
i 0.08 0.09 — PA-1000
Dt dilvER () — 0.12 — PA-1000
QR F Al — 0.13 — PA-1000
6./4(K)EN OB IH — 0.09 — PA-1000
@IZ>aF — 0.10 — PA-1000
ibi5 0.07 0.09 — PA-1000
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Ohih L ER (Z) — 0.14 — PA-1000
_ QR F R — 0.16 — PA-1000
3/3(RA) £Y QB I5FR — 0.10 — PA-1000
@JS52aTF — 0.12 — PA-1000
@izz— _ 0.10 0.11 — PA-1000
®§&<gﬁﬁhll4;ﬁyz) — 0.14 — PA-1000
N N> FHil — 0.15 — PA-1000
2/3(R) Y IR EZ 5 A — 0.12 — PA-1000
OPEPERS — 0.14 — PA-1000
Ei‘izz— _ 0.10 0.11 — PA-1000
Ot h L ERGZ) — 0.14 — PA-1000
TEH264E @i’\./:):ﬁlj — 0.15 — PA-1000
1./6(8) B QIERIGFR — 0.11 — PA-1000
@77/E:‘F — 0.13 — PA-1000
@‘ig,a _ 0.11 0.11 — PA-1000
®%&é@5h'|;§yz) — 0.15 — PA-1000
ROF R — 0.16 — PA-1000
12/2(R) Bh IR EE S5 A — 0.12 — PA-1000
@IS aTF — 0.12 — PA-1000
@133— _ 0.11 0.12 — PA-1000
®§%W'L_-}%B(Z) — 0.14 — PA-1000
RF R — 0.13 — PA-1000
11./1(%) Bh QB IGFR — 0.10 — PA-1000
@7 7/E:|‘F — 0.11 — PA-1000
E@‘ig,a _ 0.10 0.10 — PA-1000
(Dsi;ﬂz(gﬁlj:'l;’&fh(z) — 0.14 — PA-1000
R FRH — 0.13 — PA-1000
10/3(K) Eh I IR — 0.10 — PA-1000
@IS aTF — 0.11 — PA-1000
b5 0.10 0.10 — PA-1000
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5cm 50cm 100cm
Ohih L ER (Z) — 0.18 — PA-1000
QR F R — 0.15 — PA-1000
9./3(k) BEh OEET i — 0.10 — PA-1000
@JS52aTF — 0.12 — PA-1000
5 0.07 0.11 — PA-1000
O LI ED) — 0.15 — PA-1000
@A FHI — 0.15 — PA-1000
QERIGFR — 0.10 — PA-1000
OPEPERS — 0.13 — PA-1000
b5 0.09 0.12 — PA-1000
8/1(K) £Y ABYEEME — 017 — PA-1000 FE 0% B E (R AE 7D AT BEIE L B 215 AF)

BEH#HET — 0.16 — PA-1000 ”

C/NN—T5F — 0.12 — PA-1000 7

O~ F — 0.12 — PA-1000 /

ENF — 0.14 — PA-1000 ”

OB RN F 5 — 0.12 — PA-1000 7
O LI ED) — 0.15 — PA-1000
QR F R — 0.16 — PA-1000
720K Bh QB IGFR — 0.10 — PA-1000
@IS aF — 0.12 — PA-1000
fi5 0.09 0.11 — PA-1000
O D ER (Z) — 0.14 — PA-1000
QR FHi — 0.16 — PA-1000
6.73(H) Bh QERIGFR — 0.10 — PA-1000
@IS aTF — 0.12 — PA-1000
b5 0.10 0.11 — PA-1000
Ohih iDL ER (Z) — 0.15 — PA-1000
QAR F R — 0.14 — PA-1000
5/16(K) Eh QB IGFR — 0.10 — PA-1000
@IS aTF — 0.11 — PA-1000
fbi5 0.08 0.11 — PA-1000
Ot hiLERGZ) — 0.16 — PA-1000
@ FHiI — 0.16 — PA-1000
4,/25(K) BEh OEETh — 0.11 — PA-1000
@JS52aTF — 0.12 — PA-1000
i 0.10 0.12 — PA-1000
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O h b ER () — 0. 15 — PA-1000

Qb5 0.13 0. 14 — PA-1000

3/1(B)K3BY QFRYLENO — 0. 22 — PA-1000

@IS aF — 0.17 — PA-1000

O F i — 0.18 — PA-1000

O L ER () — 0.18 — PA-1000

Qubi% 0.13 0. 15 — PA-1000

2/1(&) BN RFRYEKEO — 0. 25 — PA-1000

@IZ>aF — 0.16 — PA-1000

B F i — 0.17 — PA-1000

Ot ER () — 0.17 — PA-1000

X Qb5 0. 15 0. 15 — PA-1000

12?}%2?%1 Q@F~Y&ERH — 0. 26 — PA-1000

@I5>aF — 0.17 — PA-1000

O F i — 0.17 — PA-1000

O b ER () — 0.18 — PA-1000

Qb5 0. 15 0. 15 — PA-1000

1273(A) &Y RFRNYEEO — 0. 26 — PA-1000

@I5>aF — 0.18 — PA-1000

O F i — 0.19 — PA-1000

Ot ER () — 0.17 — PA-1000

Qb5 0. 15 0. 15 — PA-1000

11.75(H) BEh QFRYEEND — 0.18 — PA-1000

@IS aF — 0.18 — PA-1000

O F i — 0. 23 — PA-1000

Ot il ER (Z) — 0.16 — PA-1000

Qb5 0.14 0. 15 — PA-1000

1071(A) HEh QI NY&ED — 0. 25 — PA-1000

@IS aF — 0.18 — PA-1000

O F i — 0.18 — PA-1000
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5cm 50cm 100cm
O h b ER () — 0.19 — PA-1000
Qb5 0. 15 0. 14 — PA-1000
93(R) BEh QFRYLENO — 0. 24 — PA-1000
@IS aF — 0.18 — PA-1000
O F i — 0.18 — PA-1000
O L ER () — 0.17 — PA-1000
Qubi% 0.17 0. 15 — PA-1000
8/1(k) Eh QFRYEENO — 0. 26 — PA-1000
@IZ>aF — 0.18 — PA-1000
B F i — 0.19 — PA-1000
Ot ER () — 0.18 — PA-1000
Qb5 0.14 0. 15 — PA-1000
172(R) £Y QFRYEEND — 0. 26 — PA-1000
@IS aF — 0.18 — PA-1000
O F i — 0.19 — PA-1000
O b ER () — 0.19 — PA-1000
Qb5 0.14 0. 15 — PA-1000
6/7(K) BEh QFRYEKENO — 0. 26 — PA-1000
@I5>aF — 0.18 — PA-1000
O F i — 0.15 — PA-1000
O hibER () — 0. 21 — PA-1000
Qb5 0.14 0.16 — PA-1000
5/8(K) EBh QFRYEEND — 0. 28 — PA-1000
@I5>aF — 0. 21 — PA-1000
O F i — 0. 21 — PA-1000
Ot il ER (Z) — 0. 21 — PA-1000
Qb5 0.19 0.18 — PA-1000
410(K) Bh QI NY&ED — 0.27 — PA-1000
@IS aF — 0.19 — PA-1000
O F i — 0.22 — PA-1000
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5cm 50cm 100cm
Ot ibER () — 0.19 0.19 PA-1000
Qb5 0.14 0.15 — PA-1000
3I/1(KR) 8Y RFRYAKEO — 0. 26 — PA-1000
@IS5>aF — 0.19 — PA-1000
ORFHI — 0.27 — PA-1000
Dt g () — 0. 23 0. 23 PA-1000
Qubi5 0.16 0.18 — PA-1000
2/2(K) BEh @FRYEREND — 0. 31 — PA-1000
@I5>aF — 0. 23 — PA-1000
O FHl — 0. 20 — PA-1000
Ot Ep () — 0. 23 0. 22 PA-1000
X Q15 0.16 0.17 — PA-1000
1/{3[7,(&,;;‘%“ QF~Y&ERA — 0.26 — PA-1000
@I5>aF — 0. 22 — PA-1000
O FHI — 0. 21 — PA-1000
Bth o R (2 R NEHEE) — 0. 23 0. 22 PA-1000
= i5 0.14 — — PA-1000
1278(%) &Y IS5 a (L) — 0. 27 — PA-1000
EEAIO S —ER — 0. 25 — PA-1000
R B huER (G2) — 0. 23 0. 23 PA-1000
17150%) B 15 0. 14 — — PA-1000
Bith bR (2 RS — 0. 26 0. 24 PA-1000
bi5 0.15 — — PA-1000
10724(B) £Y oK #t — 0. 26 — PA-1000
HE A A — 0. 26 — PA-1000
IKERAIZEKiE — 0. 21 — PA-1000
T3t gkt — 0. 27 — PA-1000
0.16(2) Eh HEIA A — 0. 27 — PA-1000
KERAIZEKiE — 0. 23 — PA-1000
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